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1| BHREUS—KRER |EHRFETVT o 0.6 0.6 o 210 300 (@) 210 300 o 68150 — — —

2 | BEEUS—KER |[RRIBHRTVT O 0.7 0.7 (@] 230 190 o 230 190 o 68150 — — —

3 |BEtE IR [RRUBHTUT o 0.7 0.7 o 250 200 o 250 200 o 68150 — — —

4 (BHEEUI—KERT | RRVBHRIVT o 0.7 0.7 e} 260 90 (@) 260 90 o 6R15H8 — — —

5 |BEHtU SRR [EHERTVT — — — — = — = — = — = = - = HIEDBEFIER TRIBRITRESE
6 |BEt KB (ROY—=2T )T (@) 0.5 0.5 o 200 250 (@) 200 250 o 68158 — — —

7 |BHEUA—KER ([ £ATUT (@) 0.5 0.5 (@] 220 200 (@) 220 200 o 68158 — — —

8 |Bftoa—IKERT | REE — — — - = - = - = = = = = = = BEFEH
9 |B&Ht SRR (#ATUT - - = - — = — — — — — — — — — WEFH
10 |BHE 2—KER |XATU7 o 0.5 0.5 (@] 220 210 (@) 220 210 o 68158 — — —

1| BHE 24— KER |#FATUT - = - — = — = — = — = = = - ik
12 |BHt 24— | HABEE SRR - = - — = — — — — — — — — — fFibe
13 |BEt 42— KRR |20 #ATIUT e} 0.6 0.6 o 260 210 (@) 260 210 O 68150 — — —

14 |BHEU2—KER (28 #£ATYUT ¢} 0.6 0.6 o 220 180 (@) 220 180 o 68158 — — —

15 | Bt 2— KT |20 H£ATUT — — — — — — — — — — — — — — fFike






